Equilibrium #2

Describe the effect on the equilibrium when the following changes take place for each reaction.
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Nz(g) + 3H2(g) < -—-- > 2NH3(g) AH = -92 kJ

increase the [N,] —> shiffs o paducts
increase the temperature «—— shtts 1o pecet ety
increase the volume <——— shifts fo yeccts 13

increase the pressure by changing volume

> SL\(FT: to PmAwJJ

ZHF(g) R > Fz(g) + Hz(g) AH = 536 kJ

decrease the temperature é—— shifts o veatents

decrease the [Hy]— shifts o pwoducts

decrease the amount of HF at constant volume «—— shfts £ vealles
decrease the volume o chewge (2 ols of apsom each sids

increase the partial pressure of Hy,) < shifts b reachonts

SIIOZ(S) + 2C0(g) <L - > Sn(s) + 2C02(g) AH =13 kJ

increase the temperature > shfts b /)ﬂf‘Mch
increase the [CO,] R R R

add a catalyst wo che—ge

add Kr, at constant volume wo c ‘

add Kr(,) at constant pressure we cieg™ (Z mols of Go-s T tocla sida)

add Sn H solids do mot du—-aa. i ?'75?“1\« of 27«»«’155.'-'% (m.\,‘ coma av\*‘vn‘.s)

CO(g) + Hzo(g) < - > COz(g) + Hz(g) AH - —41 kJ

add CO, e shilts b emaox,
increase the temperaturess———— Shtti £ et I
remove some H,0 < siofts b reactex,

decrease the pressure by changing the volume .o cne o (2 nais of g o st crdw)

add CO —'—% Sk‘(t(' t F(:(L\“;\J
add a catalyst wo -
adding a catalyst. ~. R
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